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1. What does the name “Stalin” mean?

Man of steel

2. a) What was Stalin’s role within the Communist Party?

Head of the… Secretary of the Communist Party 

b) Why did he choose this role? 

Stalin saw the Secretary as being the centre of affairs, and he wanted to be able to appoint like-minded officials to the Party to give him an advantage over Trotsky

3. Trotsky was known for being the creator and leader of the Red Army
4. a) What was Trotsky’s vision for the Communist Party (Russia)?

To stir up revolution in countries threatening the Soviet Union

b) What was Stalin’s vision for the Communist Party (Russia)?

To protect the Communist Revolution by making the Soviet Union

5. Why did Stalin introduce the Five Year Plans?

He wanted complete government control of the economy and to force heavy industry 

6. Name several ways that Stalin increased production levels during the first Five Year Plan.

Made production targets for every product; turned Russia into a vast labour camp; used slave labour; expanded schools

7. What is collectivisation?

Peasants brought together on state-owned  farms to work as paid labourers.

8. Why did Stalin start arresting party officials?

He started to think that his enemies were plotting against him

9. What happened at the Show Trials?

Accused officials confessed and apologized for crimes they did not commit and often executed


